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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instruction :
() & FT S 8
All questions are compulsory.
(i) @& TV HGH TAC-GieTH F [Ty

Write correct answer in your answer-book.
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1. HEA 156 Hl UG [HEUS] & OB & @9 H FH BT 1

Express 156 as a product of its prime factors

2. 26 3R 91 F HCF &1 8 ? 1
What is HCF of 26 and 91 ?
3. & faOM 950 S i, 576 S & AN a1 PEEA HAT -3 AR 2 B 1

Find the quadratic polynomial, the sum and product of whose zeroes are
-3 and 2 respectively.

4. K% B a9 & g, 1 e alion & g &1 s o Tel e 7 1
x-Ky+4=03R 2x-6y-5=0|
For what values of K does the pair of linear equations x — Ky + 4 = 0 and
2x -6y — 5 = 0 has no solution.

5. K& i At & forg famm efieeer x2 - Kx+ 9 = 0% 7 a¥a & 1

For what values of K, quadratic equation x?-Kx+9 =0 has equal roots ?

6. A.P.1,4,7,...... & 7d1 TS TG BT 1
Find 7th term of A. P. 1, 4, 7, ...... .
7. AH F DE||BC & EC#H TR 7 i) A 1

In fi DE || BC. Find length of EC.
n figure I ind length o 5 om 1 em

D E
6 C
B C
8. tri%sinAzg,a‘TcosAasrrrFramzﬁﬁm 1
If sinA:%, find the value of cos A.
9. sin 45° + cos 45° & A 3T HioT| 1

Find the value of sin 45° + cos 45°.
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10.

11.

12.

13.

14.

15.

16.

17.

18.
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7 O S0 A9 U% 99 % U UEUS F Shd S0 i, RTEeE BT 90° Bl 1

Find the area of a sector of a circle with radius 7 cm if angle of the
sector is 90°.

wﬁﬁqﬁw%%@wwaﬁ%mwﬁmﬁ 1

Whether the rational number

will have a terminating decimal

expansion or non-terminating repeating decimal expansion.

faEm gfieter 2x2 —5x+2=0 @l fqas Sd ST 1

Find discriminant of quadratic equation 2x2 -5x+2=0.

Find the common difference of A. P. 7,5, 3,1, ..c........... .

AP.:2,7,12, ... % Ued 6 Y&l AN S i 1
Find the sum of first 6 terms of A. P. : 2, 7, 12, ........ .

Tl At 2 & (@7ay) arrm) 1
All squares are .............. . (Similar/ Congruent)

el @ @l &1 fargell TX ofreT e a1 B e Fed 1

A line intersecting a circle in two points is called ............... .

T fag & g9 W A T wsReEnel @ e Bl &l 1

The lengths of tangents drawn from an external point to a circle are ............. .

fgaTt (-2, 3) 8iR (-5, 1) & S & g4 & H 1

Find the distance between the points (-2, 3) and (-5, 1).

5503/(Set : D)/ I P.T.O.



19.

20.

21.

22.

23.

24.

(4) 5503/(Set :

1+tan20 & A = oo, BT B

The value of 1+tan2 0=............... .

e P(E) = 0.25%, @ 'E T&r &I siekan @ e ?
If P(E) = 0.25, what is the probability of event 'not E' ?

fr=ifeiieg & @ @F-d gen sufay B 7

A) 4 B) 9 (C) 342 (D) 16
Which of these is an irrational number ?
A) 4 B) 9 (C) 342 (D) 16
feemd ague 2x2% + x -3 & LB BN AEA © ¢

-3 -1 5 2
(A) Y (B) ) (©) 2 (D) 3
Sum of zeroes of quadratic polynomial 2x2 +x-3 is:

-3 -1 5 2
® 5 ® © - o) 3

feamd wiBTell & FH x+ 3y -3 =0T 2x+y—5=0FH & & :

(A) stfEd T & (B) ®T & e

(C) STURM 3% & (D) ™ § ®iE T
The pair of linear equations x+ 3y -3 = 0 and 2x + y — 5 = 0 has solution :
(A) Unique solution (B) No solution

(C) Infinitely many solutions (D) None of these
T & FH-a fEEa wlme ®

(A) x2+3x+1=(x-2)° (B) (x+1)% =2(x-3)
(C) (x+2) (x+1)=(x—1) (x-3) (D) (x+2)° =2x(x% -1)
Which of these is a quadratic equation ?

(A)  x%+3x+1=(x-2) (B) (x+1)% =2(x-3)
(O (x+2) (x+1)=(x-1) (x-3) D) (x+2)% =2x(x*-1)
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25. faam @i x% -5x+6=0 & A & : 1
A) 2,3 B) 6,1 (C) -3,2 (D) 3,-2

Roots of the quadratic equation x2-5x+6=0 are:

A) 2,3 (B) 6,1 (C) -3,2 (D) 3,-2
26. 378 q HF-4 A. P. Rl & ? 1
A) 1,3,7,12, ....... (B) 0.3,0.33, 0.333, .......
(C) 2,4,7,11,........ (D) 3,6,9,12, .......
Which one is A. P. series ?
A) 1,3,7,12, ....... (B) 0.3,0.33, 0.333, .......
(C) 2,4,7, 11, ........ (D) 3,6,9,12, .......
27. AABC SR APQR &Y BIgS T| §7H H9EUdl &l H-9 FHAC! SEN e ? 1
C R
A sam b P 6o
(A) S.A.S. (B) A.A.A.
(C) S.S.Ss. (D) T ¥ Hiz Tl

AABC and APQR are similar. Which similarity criterion is used ?

C R
Qcmk mk
[ ] [ ]
A 3cm B P 6cm Q

(A) S.A.S. (B) A.A.A.
(C) S.S.S. (D) None of these
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28.

29.

30.

31.

32.
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Q%ﬁgQ@f@ﬂﬁﬂﬂ?ﬁ@iﬁa‘m‘%%@:ﬁﬂwQﬁ%ﬁ'@({ﬁ%ﬁ%lEﬁiﬁ
B 1

(A) 12 8 (B) 7 oW (C) 15T (D) 24.5 ¥

From a point Q, the length of the tangent to a circle is 24 cm and distance of
Q from the centre is 25 cm. The radius of the circle is :

(A) 12 cm (B) 7cm (C) 15cm (D) 24.5cm
Ik g P A O 3% I Rl 99 W PA 91 PB W@ WER 70° & H T
g B, A IPOA TR B ¢ 1
(A) 80° (B) 70° (C) 55° (D) 60°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 70°, then IPOA is equal to :

(A) 80° (B) 70° () 55° (D) 60°

fgatt (2, 5) 8iR (4, 2) B AW A JErETs & 99 g & FRdi® © 1
5 7 7

@A) (3, E) ®) (3, 5] © (3,3 D) [5, 3]

A) (3, 5) (B) (3, Zj © (-3,3) D) (3,3]

2 2 2
X8 T 5 g & esiis 8 1
(A) (6 y (B) (% 0) (€ 0,y (D) (y, 0)

Co-ordinates of any point on x-axis are :

(A) (6 Yy (B) (% 0) (€) 0,y (D) (y, 0)

T fog & few® © ¢ 1
(A) (% 0) B) (% y)

(©) 0,y (D) FH & B T
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The co-ordinates of origin are :

(A) (% 0) B) (x5 Y
(€) 0,y (D) None of these

33. TH o9 & AFAT 216 6 8, A 366 ol & qag o ¢ 1
A) 8T (B) 74 (C) 6% (D) 54t

The volume of a cube is 216 m®, then the length of its side will be :

(A) 8m (B) 7m (C) 6m (D) 5m
34. g9 % A9 9 B § oo Hey ® ¢ 1
(A) =" = B (B) M =2 x BFdr
(C) =™ = %T" (D) Brear=2x ™

The relation between diameter and radius of a circle is :
(A) Diameter = Radius (B) Diameter = 2 x Radius

Radius

(C) Diameter = (D) Radius = 2 x Diameter

35. o1 2 ¥ T SO 7 O A SO B Wb T SFhA e 1
(A) 44 T (B) 88 {HI° (C) 154 a4 (D) 88 W
The curved surface area of cylinder with radius 2 cm and height 7 cm will be :
(A) 44 cm? (B) 88 cm? (C) 154 cm? (D) 88 cm

36. 7 AHl BT 9 g9 @ &% B 1
(A) 154 (B) 44 T (C) 88 & (D) 22

The area of a circle with radius 7 cm will be :

(A) 154 cm? (B) 44 cm? (C) 88 cm? (D) 22 cm?
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37. ffafad st & Ares #r 8 ? 1
32, 24, 30, 27, 21
(A) 32 (B) 24 (C) 27 (D) 30

What is median of the following data ?

32, 24, 30, 27, 21

(a) 32 B) 24 (C) 27 (D) 30
38. T iiews! B agas 1 ¢ ? 1
2,6,45,0,2,1, 2, 3, 3
(A) 2 B) 3 €) 4 (D) O

What is mode of the following data ?
2,6,45,0,2,1, 2, 3, 3

(A) 2 B) 3 € 4 (D) O
39. Al geT & WREAT .. A TE A D T B & T ceeererrnnnnns q
BIdl a1 IFH &R B & 1
A -1,1 B) 1,0 c -1,0 D) 0,1
The probability of an event is greater than or equal to .............. and less than
or equal to .............. .
A -1,1 B) 1,0 ) -1,0 D) O,1
40. %€ g7 E % ¢ 1 R & oK 1
PE)=.c....... — P(E)
(A) 1 (B) O € 2 (D) -1
For an event E complete the following statement :
PE)=..c.c...... — P(E)
(A) 1 (B) O € 2 (D) -1
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